1 Cluster Pruning Results

CM1, TRUE

rank % treatment % data pruned median 50%
1 IDEA-0.10 7.85 46.00 P
1 IDEA-0.20 17.72 46.00 e —
1 IDEA-0.30 33.40 46.00 ———————
1 IDEA 0.00 44.00 P
1 IDEA-0.40 55.31 43.00 ———————*+—
1 IDEA-0.50 66.95 42.00 9+
1 IDEA-0.60 78.88 4200 F——————=+—
1 IDEA-0.70 79.91 33.00 ——————
1 IDEA-0.80 79.91 33.00 ——————
1 IDEA-0.90 79.91 33.00 ————+—
1 NONE 0.00 0.00 &+

KC1, TRUE

rank % treatment % data pruned median 50%
1 NONE 0.00 61.00 F——e—i
1 IDEA-0.20 25.97 61.00 H—e—i
1 IDEA 0.00 60.00 H—e—
1 IDEA-0.10 9.52 60.00 —e—
1 IDEA-0.30 48.37 59.00t —e—
1 IDEA-0.40 75.53 53.00 e ’
1 IDEA-0.50 89.64 0.00 ¢ ‘
1 IDEA-0.60 95.71 0.00 &+
1 IDEA-0.70 95.98 0.00 &+
1 IDEA-0.80 95.98 0.00 &+
1 IDEA-0.90 95.98 0.00 &+




KC2, TRUE

rank % treatment % data pruned median 50%
1 IDEA-0.40 60.33 69.00 ! : M
1 IDEA 0.00 65.00 e
1 NONE 0.00 65.00 I—e—r
1 IDEA-0.10 9.17 65.00 H—e—
1 IDEA-0.20 26.73 65.00 * —e ’
1 IDEA-0.30 43.14 65.00 —e ’
1 IDEA-0.50 70.42 61.00 " —e ’
1 IDEA-0.60 73.30 61.00 —e ’
1 IDEA-0.70 73.30 61.00 —e ’
1 IDEA-0.80 73.30 61.00 " —e ’
1 IDEA-0.90 73.30 61.00 —e ’

KC3, TRUE

rank % treatment % data pruned median 50%
1 IDEA 0.00 65.00 e
1 IDEA-0.10 19.01 63.00 P
1 IDEA-0.20 34.73 62.00 —e—r
1  NONE 0.00 60.00 He—
1 IDEA-0.30 59.63 36.00 - ’
1 IDEA-0.40 77.23 0.00 ¢ ‘ ’
1 IDEA-0.50 84.00 0.00 &+
1 IDEA-0.60 85.32 0.00 &———+—
1 IDEA-0.70 85.32 0.00 &——+—
1 IDEA-0.80 85.32 0.00 &+
1 IDEA-0.90 85.32 0.00 &————+—

MW1, TRUE

rank % treatment % data pruned median 50%
1 IDEA-0.10 9.01 63.00 =
1 IDEA-0.20 21.80 63.00 i
1 IDEA-0.40 66.67 62.00 P
1 IDEA-0.50 76.46 62.00 P
1 IDEA-0.60 76.46 62.00 Pt
1 IDEA-0.70 76.46 62.00 P
1 IDEA-0.80 76.46 62.00 P
1 IDEA-0.90 76.46 62.00 Pt
1 IDEA 0.00 61.00 P
1 IDEA-0.30 4791 61.00 P
1 NONE 0.00 50.00 P




PC1, TRUE

rank % treatment % data pruned median 50%

1 IDEA 0.00 57.00 ———
1 IDEA-0.10 9.04 57.00 Pt
1 IDEA-0.30 39.31 57.00 F————"e—
1 IDEA-0.20 17.82 55.00 e
1 IDEA-0.40 61.01 5400 F————te—
1 IDEA-0.50 80.17 41.00' — ’
1 IDEA-0.60 83.85 41.00' - ’
1 IDEA-0.70 83.85 41.00 —t ’
1 IDEA-0.80 83.85 41.00' - ’
1 IDEA-0.90 83.85 41.00' - ’
1 NONE 0.00 12.00 ——




